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Step 1 Python code ANSWER (missing code is provided) 
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Answer Key

Step 2 Python code:
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:'import math

Slistl = [23,1,5,9,2,4,5,6,2,18] #Tistl: a given list of mumbers

:s = 0 #initialize the sum to zero

wlength = [N #store the length of listl as a variable named 'length’
u

2 for i in range(0,length): #a for Toop will iterate though the elements of listl

1 [N #double each element of 1istl and overwrite the

15 #01d values of Tistl
18 _ #print (output) each changed element of Tistl

[N #2dd each elemet of listl to the sum

wprint s #outside the for loop, print out the final sum
|
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1 #This program will double al] of the elements of a given

2775t ‘and then sum a1l the resulting values

:import math

CTistl = [23,1,5,9,2,4,5,6,2,18] #7istl: a given Tist of mumbers

us = 0 #initialize the sum to zero

s length = Ten(1istl) #store the Jength of Tistl as a variable named 'length’

n
12 for i in range(0,length): #a for Toop will iterate though the elements of listl

1
i T1istl[i] = 2*Vistl[i] #double each element of listl and overwrite the
15 #0ld values of Tistl

1

1

i print Tistl[i] #rint (output) each changed element of Tistl

1

0

2 s += 1istl[i] #add each elemet of ]istl to the sum

2
sprint s #outside the for Joop, print out the final sum
2
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